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1. (a) Fill in the blanks : 1x4=4

() A company cannot enjoy the status
of' = 11,

(i) Agricultural income from land
situated in India is fully exempted
under Section of the
Income-tax Act.
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City Compensatory Allowance—¢ 1,000 p.m.

Conveyance Allowance—¢ 2,000 p.m.

She claims to have spent 75% of this in
the performance of her duties. From
01.08.2019, she joined Sunrise Ltd. at
Hyderabad. Her salary particulars from
her new employer are as follows :

Basic Pay—¢ 54,000 p.m.
Dearness Allowance—¢ 27,000 p.m.
City Compensatory Allowance—¢ 1,400 p.m.

House Rent Allowance—% 16,000 p.m.
(She pays ¥ 24,000 p.m. as rent)

She and her both employers were
contributing @ 14% of salary towards
Recognized Provident Fund.

Compute her salary income for the
Assessment Year, 2020-21, if her salary
is due on the last date of the month. 14

Or

,
Explain in" brief the following items as
per the Income-tax Act, 1961 : 3%x4=14

(i Unrecognized Provident Fund

(i) Commuted value of pension

( Continued )
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(iii) Leave encashment

(iv) Deduction out of gross salary
(Section 16)

6. (a) Mr. Jayanta Dutta is the owner of a big

house consisting of three equal and
independent units. Unit-I is let out at
a rent of €8,000 p.m. Unit-II is being
used in owner’s own business, whereas
Unit-111 is being used for his own
residence. Other particulars of the
house are as follows :

¢
Municipal Valuation 1,50,000
Fair Rental Value 1,95,000
Standard Rent as per the Rent Control Act 1,86,000
Municipal Taxes 15,000
Repairs 12,000
Interest on Borrowed Money 60,000

Unit-I remained vacant for two months
and one month’s rent could not be
realized from a tenant. Mr. Dutta’s
income from his business without
debiting any expenditure related to own
house being used in his own business is
¥ 2,00,000.

Determine Mr. Jayanta Dutta’s income
from house property for the Assessment
Year, 2020-21. 14
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Or

State the provisions relating to
computation of Income from House
Property’ under different categories of
house property as per the Income-tax
Act, 1961. 14

( Continued )
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qEA 3 o7 79 1x4=4
(i) @b @=RE ¥ Tegem k7
IR |

(ii) SR % T [ PR sHes

(i) RGN @B AT wwer e
IR 2@ e wF FeEE oo
LPICHT SR |

(iv) Ror sre dﬁwﬁggﬁﬁa@a@i
Rl A ©1el 3o R = |

S @ e’ o 1x4=4

() SRS (M2eey 1880 bte fiftw
PP TH] SR IRE] AqE
41 Cafee |

(i) IRIFT WZFE 44 10(10) Crg2fb e
TS AES |

(i) Rfdore sfffis gee 1925 @ o
8 F91 2 |

(iv) B FEHT A9 ARG F91 B-5oAfT
R ([T S I 29|
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2. woe fracaed R @ siRbE 59 Gl foxn @ 4x4=16
(a) S SR CIFBPTR

(b) @B RAR SR 7S
() Fgh
(d) f&rw Im
(e) T AT T
3. (@ I 37 SREIT HHFIT PR ¢oFS
«ft 55 Brt forat | 2+12=14

(b)

(b)

20P/609

T
Rt Ffer eme fofe R Fwera
Rfen avremz & B2 gw Ife wF 9o

ofSpra wEbe fBfe ol @wa fAdfRd
12 2+6+6=14

1961 54 SRFE Hizaq 10 @S TeEy F41

R @ uchl e wrPEE REa sqie
T 4T | 14

. AT
1961 b4 WEFA S WA 4@ 10AAT
e Rom Sfafes wewe Tpae #he
@A AP cwae < [ I R
CFge qeare) RO 6T S 47 | 14
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5. () Rz Rfw @@ Wb Rew f@ore
fageR ol ffidoe wfe Wik |
(TS 31.07.2019 IRy SRR 7|1 W
fieg | (oreed rauEe Read wifes o ¢
T4 7a9Z—50,000 51 2f® A2
TR qF—25,000 531 &ifS A2
TEeRI e I6—1,000 BT &S T2
JSATS J5—2,000 531 Af T

(©8 % IR 75% 4 fed F6 A AT
2q% 91 (2= I WA A |

01.08.2019 @IfR¥ #q1 (SIS TAERMTS 4F
BaTRE fPfRbTe @mH FCF | TP R
ol A1Y (A (99 WAwId fREqI RN
wfRe :

T TAHZ—54,000 51 & qC2

A IFE—27,000 B &S WCR

TEa A Wfee I6—1,400 5 @ifS Tcz

99 19 qF5—16,000 531 2fS A2

(co€ % 7z 24,000 B FRBoweet srel W ffee)

(©¢ 9F (6] ORISR w=@w2]
14% @ Rgfeene sRafifts s@wm e |

Wy W erRd i oom oW @ R
firor fiffe 202021 ¥4 fAdRe 7 IR
VENZR °[1 (A1 SRA offqme ey 4 |
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TACOR S a9 were BEy 91 2 ¢
Bl
¢ SIEITS T4 1,50,000
T S[LI9S Toh) | 1,95,000
w1 e Wi SR TS SISl 1,86,000
¢ 39 15,000
caarfe 12,000
Y SIS S 60,000
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1961 &9 URFA Wiz WPR wee fim
REFEE 5L 4 90 ¢

(i) gfeene R SR
(i) ST (oA GHIS T2
(i) BHF T LTS FNFIFI
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51 W wre Fog 2efte Ree | 2ofH-1
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IE FA |
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THH-1 AR AW AA 02 R W
SO a1 @ ool A1y w2 | fgR TeR
(®6q JOTA o[ TS Fe 4 (PIART
[T 9% FE AN [Taq IPIACS I
374 2,00,000 B3 |

3R w8 wed PR-orfe feme (@E W

ofawe 2020-21 34 ffad a3 Afr w11 14

57241

(b) 1961 @ W i wpR R{fEn el
sp-afe cRae ‘TR R Al SR

fmrere o e S 40 |

14
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(b)
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( Old Course )

Full Marks : 80
Pass Marks : 32

Answer the following questions directly :
1x4=4
() Who is an assessee?
() What is ‘tax holiday’?
(i) What do you mean by ‘Provident
Fund’?

(iv) What is ‘fair rental value’ of house
property?

Choose the correct answer from the
given alternatives : 1x4=4

() Income-tax Rules are prepared by
the

(1) Central Government
(2) Central Board of Direct Taxes

(3) Institute of Chartered Ac-
countants of India

(ii) The full form of EPZ is
(1) Export Processing Zone
(2) Export Promoting Zone
(3) Export Protecting Zone

( Continued )

(13 )

(i) Unrecognized Provident Fund is not
recognized by the
(1) Government of India
(2) Commissioner of Income Tax
(3) Inspector of Income Tax

fiv) Short-term capital loss can be
set off from
(1) short-term capital gain only
(2) long-term capital gain only
(3) either short-term or long-term

capital gain

2. Write short notes on any four of the

following : 4x4=16
(a) Previous Year
(p) Tax Exemption for 100% Export-
oriented Units
(c) Standard Deduction u/s 16(ia)
(d) Deemed Ownership
(e) Cost of Improvement
3. (a) Explain the following relating to the
Income-tax Act, 1961 (any two) : 6%x2=12
(i) Block of Assets
(ii) Assessment Year
(iii) Residential Status of HUF
20P/609 ( Turn Over )
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4. (a)

(b)
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Or

“The incidence of income tax depends
upon the residential status of an
assessee.” Explain this statement.

Explain in brief various incomes which
are exempt from tax u/s 10 of the
Income-tax Act, 1961.

Or
Explain the following :

(i) Special provisions in respect of
newly established units in Special
Economic Zones

(ii) Carry forward and set off of
unabsorbed expenses related to Tax
Holiday Period

5. (a) Explain in brief the following items as

20P/609

per the Income-tax Act, 1961 (any two) :

6+5=

12

13

11

5l2x2=11

(i) Public Provident Fund

(ii) Deductions u/s 80C out of Gross
Total Income

(iij) House Rent Allowance

( Continued )

(b)

20P/609

( 15 )
Or
From the following particulars, find out
the taxable salary of Mr. Jadav Khaund
working at Coimbatore [Population
11 lakhs] for the Assessment Year,
2020-21 : 11
(i) Salary— 12,000 p.m.
(i) Dearness Allowance @ 100% of
salary
(i) Employer’s contribution to
Employee’s Recognized Provident
Fund—14% of basic salary
(iv) Rent-free accommodation (unfur-
nished)—Fair rental value is
¥ 80,000 p.a.
(v) Interest on Provident Fund balance
@ 13% p.a.—< 3,900
(vi) A car (1-4 It capacity) is provided by
employer. All expenses are borne by
employer. It is used both for
performance of duties and private
purposes. Car was used by
employee for only 11 months
during the year
(vii) He paid professional tax of ¥ 1,200
(viii) He received ¥500 p.m. as fixed
medical allowance
{ Turn Over )
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6. (a) Define ‘annual value’. How is it

determined? What deductions are . =
allowed from the annual value in
computing taxable income from house
property? 2+4+5=11
Or
(b) Mr. Nilutpal is the owner of two houses. (b)

The information regarding the houses
are as under :

House—A House—B
Date of completion 01.06.2019 01.08.2019
Standard rent (in ¥) 30,000 p.a. —
Fair rental value (in ?) 24,000 p.a. 48,000 p.a.
Municipal rental value (in ?) 24,000 p.a. 40,000 p.a.
Ground rent (in ) 500 p.m. 1,000 p.m.
Municipal tax (in ¥) 2,400 p.a. 2,200 p.a.
Fire Insurance Premium (in ?) 1,000 p.a. 1,000 p.a.
Actual rent (in ¥) 30,000 p.a. Self-occupied
Vacancy 1 month —_
Bonafied unrealized rent (in ?) 2,500 —
Interest on loan for the construction of
the house :
House—A House—B
4 v
2016-17 8,000 22,000
2017-18 8,000 22,000
2018-19 6,000 22,000
2019-20 6,000 14,000

Compute Income from House Property
of Mr. Nilutpal for the Assessment Year,
2020-21. 11

20P/609 ( Continued ) 20P/609

(17 )

Define ‘capital gain’. Discuss the
procedure for computation of capital
gains as prescribed by the Income-tax
Act, 1961. 3+8=11

Or

Mr. Anurag received the following gifts
during the Previous Year, 2019-20 :

() He received a gift in cash of
20,000 from his uncle on
30.06.2019

(i) He received a cheque of 30,000 as
a gift from his brother on
10.11.2019

(i) He received a gift of € 21,000 on his
wedding from Mr. Xon 01.12.2019

(iv) He received ¥25,000 as gift from
his non-resident friend Mr. Y on
30.12.2018

(v) He received a gift of 51,000 from
his brother-in-law on 31.01.2020

(vi) He received ¥ 5,000 from Mr. Z, his
resident friend on 15.02.2020

Calculate the amount of taxable gifts
chargeable under the head Income from
Other Sources’. 11
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1. (a) o© faq] epCad CoIORms Teq fimr :  1x4=4
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[ ASSAMESE VERSION |

(i) IS S ?

(i) *9H’ &2

(iii) ‘e’ e 5 @2
(iv) T2 ey s’ &2

(b) e fm ReEERT @1 ws Team I
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Sferear -

(i) S R 2we 3|
(1) TR IE
(2) oo 399 (F@ @S

1x4=4

(3) THTE o BH6 GHCHDHE w7

2fez
(i) EPZ T = F°1Chl (2=

(1) Export Processing Zone

(2) Export Promoting Zone
(3) Export Protecting Zone

(i) AT SRR e w2

(1) SRS 54F99 a_I
(2) ST S A
(3) ST Af=(eq q[T

( Continued )
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(iv) T e =S Sacenfre $Rq o
(1) ZFft R AT 211 TG
(2) TR TR =S o[
(3) zFwi W MW TR wrA R
CRTCAIEA 41

2. oo faadd R e sifb@ 55 Gt forn : 4x4=16

(@) Roex

(b) 100% IS (567 A 39 @22
(c) 4RI 16(ia) I TS I9 F&

(d) = e ARy

(e) Tfiesad Im

. (@ 1961 B WEFY WX EPR wAe frm

e T 341 (R @ren o) - 6x2=12
(i) >™if&3 qeTad
(i) 93 |
(iij) wfiee f&y “AfRuem waibee &S
2T

() ‘URFE @rE FMOR GEOE #feq eqqe
%3 33 177 @3 TfECH! e 41 | 12

4. (@) 1961 b4 HEFI HZF4 10 72 4TS SrEY 0

IS AR [ vt e 91 | 11
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(20)
(vi) 51 A8 (1-4 1. WIS H=ofW) GRS
i Ta R IR FA W WA OWE R
(b) ©FTS FRATCAR AT 0 : 6+5=11 BrarRSE T I | MO RIS
(i) Rom weltafes wuers agats 2iTs 2 FRfE W S T SR T
ofSpra CPae Ares Rem IR 3@ | TROA oo T@ 11 TRR
@ﬁ%ﬁﬁﬁﬂam&&ﬁ% RGO I e
W weE P e SRefe 9 (vii) (8 1,200 B3t 3fesre 34 o fifee
¢ (viti) (@6 WfEFr 500 B fRwICA feq fofees
5. (a) 1961 @ WS WitW P were  fa M wATS AR
e s o 34 (R @ B -
5ux2=11 1 6. (@ <ffe 3 e | e @ faefra
(i) e SR <1 77 - o (2R FRCen = A
(i) 7K SR A1 80C ¥FH wEife T R A 2R AR JA R TS XA
R R & &2 2+4+5=11
(iii) T ST AE I
CEL
(b) e fim ReaTd o FEEpee IS (SPRl b) fER Femeem porafer e |
11 =) figR @ qived 2020-21 4 apz-relfieq ST o fil 2 : .
R TS wawD AR 940 11 i
st e i g
(ii) SRR AT 100% €O ) SIe 9 (597%) R 24000 TE 48,000
(iii) TR Rgfead sfffite fcnsde ¢ ST 3o (5379) w3 24,000 @R 40,000
SR —A A2 14% $-¥A1 o1l (5979) affasoo R 1,000
(iv) IS TR JAE (SR )—=r 4 A 74 (531°) %R 2,400 7= 2,200
i@ wftza (5319) 72 1,000 7=f4 1,000
7R 9 7=} 80,000 TF - :
(v) SRR o e e TR Jod 2 oo i e 30000 3
) 2] 1912
13% f25107—3,900 52 o TR ST (BT) 2,500 —
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ﬁmﬂﬁgﬁﬁagﬁaémﬂﬁin
R—A Z—B

B Bl
2016-17 8,000 22,000
2017-18 8,000 22,000
2018-19 6,000 22,000
2019-20 6,000 14,000
2020-21 ¥7 99 37 fagw feicene operq
RTE /1 21 WA R fidfg < |

KRR T T T ——

f4faeq acg Gﬂﬂuﬁzﬂéaﬁaﬁ .
3+8=11

TS 41 |
el
RBR @ 201920 e s were firg
ToRIE A FRfke -
() 8 30.06.2019 wificy fieq ICR *[_
I 20,000 521 Torz oot wre e
(@) 98 10.11.2019 @Ry fieq SIS
"1 30,000 521 TP 7] afre wfifas

(i) € 01.12.2019 wificy iR x-9 A1
21,000 591 (odq far o oz
fZ1eet are sfifee

(v) (28 30.12.2018 wificy fireq eI
I MBR YT @1 25,000 B Bo
fEret #re Fffee
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(v) @€  31.01.2020 oficy  fies
mm..:@ﬁﬂﬁmrooowﬁaﬁaw%i
e Ffafee

() 8¢ 15.02.2020 Wity (wéq RN I3
8= z3 *m1 5,000 5 CoE fanre
e Ffifke

daﬂﬁﬁﬁﬁﬁz,maﬂgaéﬁga
CorRRa AR ety <4 | .
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